



Anti-Static Weigh Boat



Product Highlights

- Manufactured from high impact polystyrene
- Non wettable with smooth surface and rounded corners
- Wide rim boats, all with flat bottoms
- Anti-static treatment minimises powder hang-up
- Available in white or black

Product Applications

Weighing of liquid or powdered samples

Can also be used as quick freeze trays for sample material, discard trays for broken ampules, or mixing trays for small batches

Dispensing applications

Storage applications

STARLAB reserves the right to make changes at any time and without prior notice. The content and design of this PDF are protected by national and international copyright law and are the property of STARLAB International GmbH. Any duplication, editing, distribution and any kind of use and utilization of this PDF content in electronic systems, online media and / or libraries or similar databases requires the prior consent of STARLAB International GmbH.

Starlab (UK) LTD







General Data

| Art. No. | See variations |
|-----------|---------------------|
| Pack Size | 250 Pcs. (250 Pcs.) |
| Material | Polystyrene |

STARLAB reserves the right to make changes at any time and without prior notice. The content and design of this PDF are protected by national and international copyright law and are the property of STARLAB International GmbH. Any duplication, editing, distribution and any kind of use and utilization of this PDF content in electronic systems, online media and / or libraries or similar databases requires the prior consent of STARLAB International GmbH.

Starlab (UK) LTD







More informations about Anti-Static Weigh Boat

Weighing Boats can be utilized for liquid or solid balance sample during weighing procedures.

STARLAB reserves the right to make changes at any time and without prior notice. The content and design of this PDF are protected by national and international copyright law and are the property of STARLAB International GmbH. Any duplication, editing, distribution and any kind of use and utilization of this PDF content in electronic systems, online media and / or libraries or similar databases requires the prior consent of STARLAB International GmbH.

Starlab (UK) LTD 5 Tanners Drive MK14 5BU Milton Keynes Email: infoline@starlab.co.uk







All Variations

| PRODUCT NAME | | PACKAGING SIZE | ART. NO. |
|--------------|--|---------------------------------|------------|
| | 100 ml Diamond Weigh Boat (126 x 100 mm), Black Volume: 100 ml Dimensions (W x H): 126 mm x 100 mm Color: Black Create PDF Data Sheet | 250 Pcs. (1 Pack × 250 Pcs.) | E3300-0118 |
| | 100 ml Diamond Weigh Boat (126 x 100 mm), White Volume: 100 ml Dimensions (W x H): 126 mm x 100 mm Color: White Create PDF Data Sheet | 250 Pcs. (1 Pack × 250 Pcs.) | E3300-0011 |
| S. | 100 ml Square Weigh Boat (80 x 80 mm), Black Volume: 100 ml Dimensions (W x H): 80 mm x 80 mm Color: Black Create PDF Data Sheet | 1,000 Pcs. (4 Packs × 250 Pcs.) | E3300-0018 |
| | 100 ml Square Weigh Boat (80 x 80 mm), White Volume: 100 ml Dimensions (W x H): 80 mm x 80 mm Color: White Create PDF Data Sheet | 1,000 Pcs. (4 Packs × 250 Pcs.) | E3300-0010 |
| | 250ml Square Weigh Boat (138 x 138 mm), Black Volume: 250 ml Dimensions (W x H): 138 mm x 138 mm Color: Black Create PDF Data Sheet | 1,000 Pcs. (4 Packs × 250 Pcs.) | E3300-0028 |

STARLAB reserves the right to make changes at any time and without prior notice. The content and design of this PDF are protected by national and international copyright law and are the property of STARLAB International GmbH. Any duplication, editing, distribution and any kind of use and utilization of this PDF content in electronic systems, online media and / or libraries or similar databases requires the prior consent of STARLAB International GmbH.

Starlab (UK) LTD







| PRODUCT NAME | : | PACKAGING SIZE | ART. NO. |
|--------------|--|---------------------------------|------------|
| | 250ml Square Weigh Boat (138 x 138 mm), White Volume: 250 ml Dimensions (W × H): 138 mm × 138 mm Color: White Create PDF Data Sheet | 1,000 Pcs. (4 Packs × 250 Pcs.) | E3300-0025 |
| | 30 ml Diamond Weigh Boat (65 x 87 mm), Black Volume: 30 ml Dimensions (W x H): 65 mm x 87 mm Color: Black Create PDF Data Sheet | 500 Pcs. (2 Packs × 250 Pcs.) | E3300-0038 |
| | 30 ml Diamond Weigh Boat (65 x 87 mm), White Volume: 30 ml Dimensions (W x H): 65 mm x 87 mm Color: White Create PDF Data Sheet | 500 Pcs. (2 Packs × 250 Pcs.) | E3300-0030 |
| | 5.0 ml Diamond Weigh Boat (40 x 60 mm), Black Volume: 5 ml Dimensions (W x H): 40 mm x 60 mm Color: Black Create PDF Data Sheet | 1,000 Pcs. (4 Packs × 250 Pcs.) | E3300-0058 |
| | 5.0 ml Diamond Weigh Boat (40 x 60 mm), White color Volume: 5 ml Dimensions (W x H): 40 mm x 60 mm Color: White Create PDF Data Sheet | 1,000 Pcs. (4 Packs × 250 Pcs.) | E3300-0050 |
| | 7.0 ml Square Weigh Boat (44 x 44 mm), Black Volume: 7 ml Dimensions (W x H): 44 mm x 44 mm Color: Black Create PDF Data Sheet | 1,000 Pcs. (4 Packs × 250 Pcs.) | E3300-0078 |

STARLAB reserves the right to make changes at any time and without prior notice. The content and design of this PDF are protected by national and international copyright law and are the property of STARLAB International GmbH. Any duplication, editing, distribution and any kind of use and utilization of this PDF content in electronic systems, online media and / or libraries or similar databases requires the prior consent of STARLAB International GmbH.

Starlab (UK) LTD







PACKAGING SIZE PRODUCT NAME ART. NO. 1,000 Pcs. (4 Packs × 250 Pcs.) E3300-0070 7.0 ml Square Weigh Boat (44 x 44 mm), Volume: 7 ml Dimensions (W × H): 44 mm × 44 mm Color: White PDF Create PDF Data Sheet

STARLAB reserves the right to make changes at any time and without prior notice. The content and design of this PDF are protected by national and international copyright law and are the property of STARLAB International GmbH. Any duplication, editing, distribution and any kind of use and utilization of this PDF content in electronic systems, online media and / or libraries or similar databases requires the prior consent of STARLAB International GmbH.

Starlab (UK) LTD

